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DTM handover – failure scenario
1. Introduction

The DTM handover functionality allows a MS to perform a simultaneous CS and PS handover in an attempt to maintain the CS and PS services. Once the DTM  handover command has been sent to the MS and if the MS is unable to latch on to either CS or PS channel the DTM handover is considered failed and the MS is expected to return back to the old channel in the source cell. This paper addresses a possible scenario when CS establishment in the target cell is successful but PS establishment fails.
2. Proposal: DTM handover, CS call precedence when PS session fails
The proposal here is to discuss a error case when MS successfully latches on to CS resource but fails to latch on to PS resources, a solution is presented so that the CS call can be retained in the target cell and then a new PS session can be added, the MS doesn’t have to get back to the source cell to report a DTM failure.
On the receipt of a DTM handover command, the MS attempts to tune to the target CS and PS resources as stated in the DTM handover command message. If the MS successfully tunes to the CS and establishes the main DCCH (signalling link – dedicated control channel), but the attempt to tune to the PS resources fail due to known or unknown conditions, the proposal is the MS sends the Handover complete message to the BSS to indicate the successful completion of CS handover with a new cause code to indicate the failure of PS handover. The target BSS forwards this handover complete message to the MSC, over the A interfaces using existing handover complete. The MSC, on receipt of handover complete creates a CLEAR COMMAND with the cause set to “CS handover success and PS handover failed”, and sends the information to source BSS. The source BSS can use this information for releasing the resources and any other clean up.
Also, the MS can use the main signalling link and perform RAU (routing are update) with SGSN using existing GTTP (GPRS transparent transport protocol) procedure.
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3. References
Support the concept of DTM handover in Rel 7:

· GP-052811 – CR to stage2 for DTM.
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